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Equilibrium of a system of particles

Some practical engineering problems involve the statics of interacting or interconnected particl
To solve them, we use Newton'’s first law
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Js A Determine the maximum mass of the lamp that the cord

E system can support so that no single cord develops a
‘\\ Ve tensiongxceeding 400N.
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4 N

i 2m lm 2m i Determine the mass of each of the two identical

cylinders if they cause a sag ¢f's = 0.5 m{when
suspended from the rings at A"and B. Note that s Q
is zero when the cylinders are removed. Vi
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L= N

A “scale” is constructed with a 4-ft-10ng cord and the 10-1b block
D.The cord is fixed to a pin at A and passes over two small

frictionless pulleys. Determine the weight of the suspended block

B if the system is in equilibrium when s = 1.5ft.
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~
3D force systems

Find the tension developed in cach cable
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/ .|z If cable AB is subjected to a tension of 700 N, \
\F determine the tension in cables AC and AD and the
magnitude of the vector F
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